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The different forms of an equation of a line.
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Graphing Lines with intercept method.
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Sketch the graph of the following linear equation. Be sure to find and show the x-
and y-intercepts.
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Horizontal and Vertical Lines - Show me the one intercept they have.

T\ﬁ 4\ ,}7

A e slopr

&)

*"—’“ <\+\: x

W» W (o, - 7=~z
No Slepe | D

v s
'&4. Fad .

Aug 28-9:31 AM



120829-1-3-1-4.notebook August 29, 2012

I hate these "Graph by plotting points." That's only a last resort, if you have
zero insight on what the durn thing looks like. Otherwise, always look to the
essence.

Graph the equation by plotting points.
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A person got $171,580 for his house after paying a sales commission that was §% of the selling price.
What was the selling price?
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